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2x% +3x <20

+ Solve the above inequality graphically and
algebracailly
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In Exercises 9-16, solve the inequality. Use algebra to solve the corre-
sponding equation.

9 22+ 1Tx+21=0 10, 662 = 13x+6=0

11. 2¢> + 7x > 15 12. 4x? + 2 < 9x

13.2—-5x—3x*<0 14. 21 + 4x — x> >0

15. x°—x=0 16. x’ — x> = 30x =0
In Exercises 17-26, solve the inequality graphically.

17. 2 —dx < 1 18. 12x2 = 25x + 12 =0

19. 6x> = 5x =4 >0 20. x> =-1=0

21. 0 4+ 12x =1 =0 22 4= +T<0
23. 42 + 1 > dx 24, x2 4+ 9 = 6x
25. I -8+ 16 <0 26. X+ 2k +4=0
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Page 58#13: Solve algebraically
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